(BIR4) BKTERESE

S7EIF 258 R

mETH %%
F Ol

LiIESE

REREEREE

waRE"

EEANISKFPRICKHELE

=

3 FIEET

HIER)IFRI5=16.4, $87)I|5%15=15.9,
SFiE=8, BALER)IIFH=6.8

SEEN - FrRNER) [BF ]

% AR

IR TES

22 ERNIGRIE=9, FIEIFRE=27.4,
FhoAYIIRE=54, &F)IRE=22.1,
LAV ANIGRE=14.2

AZEB)IFE=11.5 7LX¥F)IIFRE=81,
TRV FtE=14.9, BHR)IFE=11.3,
ARl IRiE=8.8, 2Y="0 Il Fkigi=4.3,
= o ARE=3, 2V40)I5E=48,
S AVRIGRE=3.3, Fao I+ A)IIFRE=35,
FIoAVIIIFE=6.1, XA 0JII7#E=9.9,
RIYACNNFE=3.1, KRRV FE=7,

R ZHIFRIE=3.5, E7LFF1)1I5E=6.9,

ZF)I5FRE=7.1

IR )11 5= (5, 23.1)

SRR - FRBNRRI [ ]

BEN

F&)IIRE=16.2, >V )IliRE=12,
1R I FE=13.4, EER)IFE=11

FIERE R AR

[Z = ET

BRIk E=20.6

RiRIIFRE=(5 18.6)

AP HET

R FE=10.3, /ay)Y )l GE=4.7,
EEH)IRE=9.3

JANYAYIFRIE=(5, 4.7)

EIE

ETE T

HIER)FRI%=13.8, 1~ 4 &5 )IFRiH=13.4,
RAE)IGRE=8, FIE)IIRE=34.2,
KREEIRE=6, BIR)FRiH=21.2

HIER ) RE=(5, 10.3),
FHIBE)IRE= (5, 44.8),
== FERIIFRE=(5, 9.8),
Bk FitE=(5, 8),

FAI 21157 38i=(5, 20.2)

SEEN - FRNERII [IEE]

SRR Rl

BAlIIRE=28, R3I)IFiEi=10,
L) )FRIE=14.3, BAERIF18=4.9,
FFIAY)IGRE=43

FFIRYIIFRE=(5, 4.3)

SR ET

HIER)IFR15=22.4, BIR)IIF1E=1838,
IRE8)115R1E=6.2, =& )IIFR5=6.2,
AESS I FiE=8.8,

Y25 FE=10,
FaaY )l Fith=9.7

R RNIGREE=(5, 18.8),
ER)IFE=(5, 6.2),
FESV 7 IGRE=(5, 8.8),

FaaRVJIkEE=(5, 8.9)

YRR iRE=(5, 5.8),

HIER I BRI L E]

B HRET

ZRER)IFRE=27.4, FORB)IIFE1H=13.6,
BERRIR=26.7, a4 )11 5R15i=10.6

FRAIFIE=(5, 13.2)

RELED

TR ET

LR )11 5RI8=10.3, 1ZFE)IRIE=26.8,
BAE) I FRte=17

22 )I5RIE=(5, 21.4)

HRIEHET

1Z52)I15R18=32.5, IR )IIFE=104,
ERIFRE=11.9, BEE)5E=20.8,
BHZNIFRE=10, ZEF)IFE=64

EAIIGRE=(5, 8.1),
BER)IRE=(5, 14.2)

FEEIHT

FEERI%=7.3, Z0785)1I5R=8.2,
FXEFHIIRE=106, FEHRIGRE=104

Rl HT

EAIFRE=236, BRFHIIFEH=187,
FRNIFRE=11

[E

A8 IRE=13.2




(BIR4) BKTERESE

S7EIF 258 R

mETH %%
FLHT-hig

LiIESE

REREEREE

waRE"

EEANISKFPRICKHELE

+REED

£ iRET

E58)I7RE=30.1, BilJIFEH=9.7,
Yot ILAY)IFE=5.9,
Y= IGRiE=6.7

iD= (5, 9.7),

H9hat ILAYIFE=(5, 5.9)

RANNIFRE=22.3, /\F/)II55R15=6.1

ERNIFRE=211, RS F 2 L]IFR1E5=6,
ERIRE=4.3, h#71F)I15RE=3.3,
IV HBNIRE=6.4

R IIIE: S

R T

FIR5=31.3, EEB R Fii5=34,
F&)FE=11.9, BFIFE=22.7,
BEE)RiE=16

REIE=(5, 22.6)

ek | BT

FA)II5R=18.5, 355)117iE=18.3,
FEKNIGRE=6.7, BERI)IRE=14

FAIIFRIE= (5, 185),
Rk i gi= (5, 11.9)

TR ED

WL

HIR)IFRE=16.9, FEE)IFE=10.9,
HEAED)IR1E=3.7, XyT)I#1=5.5,
FEMNIFRE=19.8, YY) FiE=6.1,
L RE=2.1, ARE)IIFRE=43,

B HMANIFRE=35, KRETRIIFRE=2.6,

BANIFRE=12

IRV IFRE=(5, 6.1),
+ )11k E=(5, 46.3)

R ES DN
ARNI[EZKIIE]

FEH

TMR)IRE=18.8, ZARI)IIFRI%=27.6,
E5EA )11 FRe=4

EHIIFRE=(5, 19.9)

+B5I[FIR],
ERI[LR-FE]

T iRET

TR FRE=8, Bil)IlFRiE=11.3,
Yoot LAY)IFE=9.9,
AT NRE=6.6, )0 =)IFE=7.1

FEI[LR]

B IKET

FE)IIFRE=12.5, £iR)115kE=26.1,
RFLARYg=12,
ARG RY I FitEi=174,
AWNFREE=8.7, /NHR)IREE=7.3

NIrLAYIRE=(5, 12),
AWGREE=(5, 8.7)

RIS

Sit
i
g

LITHSENRDY)IFE=T,
E4)FRE=21.7, EY9AIGRE=5.6,
F2)IFiE=15.6, HIL)IFE=148

I RAB],
TEENKRFZNNFENI]

R ET

RAIFRE=20.1, & B Fisi=16,
IB& B FRi5i=6.1, #RM)I1FR15=11.8,
LRR)GRE=15.1, BES)IFH=8.5

BN [FIR],
RN =XII4E]

st ERET

+88)IRtE=11.9, +B)IlFHE=7.2,
ISV FRE=7.2, RA)IFRiEi=4.8,
BBNGRE=137, IBFIAIGRE=11.2,

BRIRNIRE=27, o9y T NRE=21,

EETERIIFRE=42

+ 3811 E=(5, 10.9),
+B8JIIRE=(5, 5.8),
R )IFRIE=(5, 3.8),
EDNIGRE=(5, 9.1),
FIRN = (5, 29.7),
IBFIBI IR 5=(5, 9)

+B5II[FIR],
FBI[RAE- FB1]

SRAET

THEERIGRE=71, IBRIBIFRE=12.9,
£ HR)F8=20.2, BEF4)IFE=105,
BRI FRE=11

+EI[FL- A
FALF 5]

AT

i )IRE=8.6, ZBAIRE=11.1,
AR )IR%=12.3, 8 7)I15=35.1

FAIN[RAE]

STEET

EBR)IFRE=259, BEIFE=129,
TEED)IRE=13.6, SHIR+BE)RE=29.3

TIN5 E]

TR ED

LA

ALRNIFRE=22.4, RRE)JIFRE=3.3,
FERIIFE=26.8, S5 V)I|FH=5.6

ALARNNIEZXI4E]

EEEE

RRNIGRE=16.5, 5 V]IlGRigE=10,
HuF v LAY ig=4.4

A= (5, 16.5),
YIF v LAY Filgi=(5, 3.5)

PN

FEFHIRE=36.1, ALJIIFRE=13.9,
WRAIIRE=6.4, £IEE)IRE=148,
Lig)IRE=22.8, HA)IFRIZ=8.2

EETIRE=(5, 14),
#AI = (6, 6.6)

L EHRT

20U15RE=26, FIF)II =143,

W FRE=22.3, AEYIFA)I7iE=6.6,
FLEN =129, E)I15E=125,
BEIEIRE=156

FiZ)IE=(6, 9.8)

Y (REWEEY AEFEER ORASOEICIIREEERLTVET,




